1 what ways is an MNC different from the national companies? Highlight any
ee points of distinction. - [3x1=3]
(i) An MNC (multinational company) operates in more than one country, whereas a
~ national company operates in only one country.

(ii) MNCs have huge financial resources, much more than a national company. They
- adopt latest technology in production of goods. :
~ (iii) The most common route for MNC investment is to buy up local companies and
’ then to expand production. MNCs have tremendous power to determine prices,
quality, delivery and labour conditions for products located in far-off coumnes.

a sense of collectlve identity amongst the French people. :
- 33. Why can’t modern democracies exist without political parties? Explain any font
reasons. [4x1=4]
Ans. Modern democracies are representative democracies. They are large and complex.
They cannot function directly. Hence, modern democracies cannot function without
political parties which act as representative of the people.

We can understand the necessity of political parties by imagining a situation
~ without parties. Every candidate in the election will be independent. So no one will
be able to make any promises to the people about any major policy changes. The
government may be formed, but its unity will remain ever uncertain. Elected
representatives will be accountable to their constituency for what they do in the
locality. But no one will be responsible for how the country run.

Without political parties, the politics and political situation will become chaotic,

uncertain and no one will take responsibility.
\\uSSUUL Iuvers. 1/ 10 29 carry 3 marks each.) 1
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What led to the rise of the revolutionaries?
Ans. During the years following 1815, the fear of repre
underground. Secret societies sprang up in
revolutionaries and spread their ideas. To be
commitment to oppose monarchical states that
Congress, and to fight for liberty
the creation of nation-states as

(31

ssion drove many liberal nationalists

many European states to train
a revolutionary at this time meant a
had been established after the Vienna
and freedom. Most of these revolutionaries also saw
a necessary part of this struggle for freedom.

Or ‘

] h Geodlerml Energy and how it is obtained? ‘ 5%
we know, the earth can be divided into three main parts between top cmst toc
re of the earth is in semi-liquid form and has high density. Temperature insid
~ earth increases as we move down below the surface. This heat and energy of
‘“’@'W to generate energy which is named as 'geothermal energy'. Similarly,
,ay these areas is also hot and generates steam and this steam is used to drive turbin
electricity. Puga valley in Ladakh and Manikaran in Himachal S
. two main centres of 'geothermal energy' in India.
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. Write a short note on the Treaty of Vienna? g,

. The Vienna congress was hosted by the Austrian Chancellor Duke Metternich in 1815
~ after the defeat of Napoleon. Representatives of Britain, Russia, Prussia and Austria
~ met at Vienna with the aim to undo most of the changes that had come about in Europe
~ as a result of the Napoleonic wars. As a result of the settlement, the Bourbon dynasty
~ was restored to power, and France lost the territories it had annexed under Napoleon.
 Many new states were set up. .

R

- 19. Distinguish between ferrous and non-ferrous minerals. Give examples.
ns. Metallic minerals can be classified into ferrous and non-ferrous minerals.

Ferrous Minerals Non-Ferrous Minerals

(i) Metallic minerals coniaining iron are | Metallic minerals that contain metals other
- called ferrous minerals. than iron are non-ferrous minerals.

(i) They account for about three-fourths of India’s reserves and production of non-
| the total value of production of metallic ferrous minerals are not very satisfactory.

e in India. S Copper, lead, tin, bauxite, gold are exampl
Or€, manganese, chromite, tungsten, | non-ferrous minerals as they do no

i P m and cobalt are examples of ferrous s A gy
minerals.

. ocracy usually involve a conflict bet




ﬁm in Jharkhand, is the leading producer of which one of the followiq
(1]

(8) bauxlte (b) mica (c) iron ore (d) copper
s. (b)

n

€ movement is issue-specific and seeks to achieve a single objective
‘,”ﬁ‘.&ﬁthmd.along-tmnmvcnuKuamu ;
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the 1848 revolution of the liberals. What were the
Jideas supported by the liberals? [4)
and that the law must view everyone as equali.
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